1984 Winter Olympics were held in Sarajevo, Yugoslavia. The table below lists the %olal nunwwber of govd, silver, and

nze medals won, by country.

List the data in order below:
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5. Use the 1.5 IQR rules to find the outliers. SHOW AtL WORK!
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6. Which countries are outliers?
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7. Construct a box plots of the data above on a number line.
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COUNTRY TOTAL |
MEDALS

Austria 1
Canada 4
Czechoslovakia | 6
Finland 13
France 3
Germany, East | 24
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8. Create a box plot from the set of numbers:
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,&Create a box plot from the set of numbers:
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10. Create a box plot from the set of numbers:
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11. Create a box plot from the set of numbers:
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